SO GIAO DUC VA PAO TAO DE THI THU TIENG ANH VAO LOP 10 THPT
- ” NAM HQC: 2014 — 2015
PE THI SO 10-07 e ‘
[ ] Thoi gian: 60 phut (khong ké thoi gian phat dé)

(Dé thi gom 02 trang) , ‘
Hovatén:......coovvviii i Loi dgn thi sinh: Thi sinh lam bai truc tiép vao dé thi nay.
Thi sinh khong dwoc sv dung bat cur tai liéu nao ké ca tr dién.

Diém Giam khao Giam thi 1 Giam thi 2

(1-3) Choose the word whose underlined part is pronounced differently from that of the others: (1.5 pts)

1. A. play B. says C. stay D. may
2. A. leaf B. meat C. seat D. sweat
3. A. think B. that C. three D. thanks
(4 —13) Choose the word or phrase (A,B,C or D) that best fits the blank space in each sentence: (5 pts)
4. A foreign is going to stay with us for a week.
A. pen name B. pencil C. pen pal D. reader
5. If you heat ice, It into water.
A. will turn B. would turn C. is turning D. turned

6. They wish the Second World War

A. hadn’t happened B. hasn’ thappened C. wouldn’t happed D. didn’t happen
7. He continued to the city center.

A. driving B. drive C. driven D. to be driving
8. He said to her she her best clothes.

A. were wearing B. was wearing C. is wearing D. are wearing
9. Of the three girls, Helen, Susan and Alice, Susan is the

A. funny B. so funny C. funnier D. funniest
10. The book in on the table is mine.

A. who B. where C. which D. whom
11. T live in the countryside, , | cannot easily get access to the internet.

A. when B. though C. because D. therefore
12. Family members often gather the living room to enjoy special foods and exchange wishes
one another on the first day of the Lunar New Year.

A. on B. at C.in D. next to
13. Nga and Maryam are pen pals, ?

A. don’t they B. are they C. aren’t they D. can’t they

(14 — 16) Choose the underlined word or phrase (A, B, C or D) that needs correcting: (1.5 pts)
14. Tom used to going to school by bus. Now he goes by bike.

A B C D
15. The Chinese build the Great Wall over two thousand years ago.
A B C D
16. Liverpool is an industry city in the North of England.
A B C D

(17 — 24) Choose the word or phrase (A, B, C, D) that best fits the blank space in the following passage:(4
pts)

HOMEWORK
Many people now (17) that teachers give pupils too much homework. They said that it is
unnecessary for children to work (18) home in their free time. Moreover, they argue that most

1



teachers do not properly plan the homework tasks they give to pupils. The result is that pupils have to
repeat which they have (19) done at school.

Recently in Greece many parents complained (20) the difficult homework which teachers
gave to their children. The parents say that most of the homework was (21) of time and they
want to stop it. Spain and Turkey are two countries which stopped homework recently. In Denmark,
West Germany and several other (22) in Europe, teachers can’t set homework at weekends.

Most people agree that homework is unfair. A pupil who can do his homework in a (23)

and comfortable room is in a much better position than a pupil who does his homework in a
small, noisy room with the television (24) . Some parents help their children with their
homework. It is important, however, that teachers talk to parents about homework. Parents are often
better at teaching their own children.

17. A. think B. talk C. speak D. tell

18. A. in B. for C.on D. at

19. A. ever B. never C. already D. lately

20. A. of B. about C. with D. over

21. A. aneed B. a must C. a waste D. a form

22. A. houses B. towns C. cities D. countries

23. A. quiet B. noisily C. quite D. quietly

24. A. at B. on C.in D. to
(25 — 28) Supply the correct form of the words in parentheses to complete the sentences. (2 pts)
25. He has worked well and produced some essay. (interest)
26. They got yesterday morning. (marry)
27. Some designers have the Ao Dai by printing lines of poetry on it. ~ (modern)
28. She like to wear clothing at work. (fashion)

(29 — 32) Read the text and decide whether the following statements are True (T) or False (F) (2 pts)

All the world knows William Shakespeare as one of the poets and dramatists. He was born in a
small English town of Stratford- upon- Avon in 1564. He grew up in a large family of eight brothers
and four sisters, but many of them died very young. His father, John Shakespeare, made and sold
gloves. William learned at a school in Stratford. He married very young when he was about nineteen,
and soon moved to London where he worked at a theater. There he began to write plays for the theater.
His plays were good and people like them. He wrote thirty- seven plays and some books of poems. At
the end of his life he came back to Stratford and died there in 1616.

STATEMENTS TRUE FALSE

29. William Shakespeare was born in England.

30. He worked at a theater in London.

31. He didn’t write any poems.

32. He died when he was 52 years old.

(33 — 36) Complete the second sentences in such a way that it means the same as the original one.( 4 pts)
33. Come soon or you may not meet us.
= 1If

34. Ba stayed up late watching TV, so he is tired now.

=> Because

35. My friend cannot stay with me longer.
T2 LWISIL

36. Walking in the rain gives him pleasure.
=> He enjoys
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14. Tom used to going to school by bus. Now he goes by bike.

A B C D
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3



teachers do not properly plan the homework tasks they give to pupils. The result is that pupils have to
repeat which they have (19) done at school.

Recently in Greece many parents complained (20) the difficult homework which teachers
gave to their children. The parents say that most of the homework was (21) of time and they
want to stop it. Spain and Turkey are two countries which stopped homework recently. In Denmark,
West Germany and several other (22) in Europe, teachers can’t set homework at weekends.

Most people agree that homework is unfair. A pupil who can do his homework in a (23)

and comfortable room is in a much better position than a pupil who does his homework in a
small, noisy room with the television(24) . Some parents help their children with their
homework. It is important, however, that teachers talk to parents about homework. Parents are often
better at teaching their own children.

17. A. think B. talk C. speak D. tell

18. A. in B. for C.on D. at

19. A. ever B. never C. already D. lately

20. A. of B. about C. with D. over

21. A. aneed B. a must C. a waste D. a form

22. A. houses B. towns C. cities D. countries

23. A. quiet B. noisily C. quite D. quietly

24. A. at B. on C.in D. to
(25 — 28) Supply the correct form of the words in parentheses to complete the sentences. (2 pts)
25. He has worked well and produced some __inferesting essay. (interest)
26. They got  married __ yesterday morning. (marry)
27. Some designers have  modernized the Ao Dai by printing lines of poerty on it. (modern)
28. She like to wear __ fashionable _ clothing at work. (fashion)

(29 — 32) Read the text and decide whether the folowing statements are True (T) or False (F) (2 pts)

All the world knows William Shakespeare as one of the poets and dramatists. He was born in a
small English town of Stratford- upon- Avon in 1564. He grew up in a large family of eight brothers
and four sisters, but many of them died very young. His father, John Shakespeare, made and sold
gloves. William learned at a school in Stratford. He married very young when he was about nineteen,
and soon moved to London where he worked at a theater. There he began to write plays for the theater.
His plays were good and people like them. He wrote thirty- seven plays and some books of poems. At
the end of his life he came back to Stratford and died there in 1616.

STATEMENTS TRUE FALSE
1. William Shakespeare was born in England. T
2. He worked at a theater in London. T
3. He didn’t write any poems. F
4. He died when he was 52 years old. T

(33 — 36) Complete the second sentences in such a way that it means the same as the original one.( 4 pts)
33. Come soon or you may not meet us.
=>If you don’t come soon, you may not meet us.

34. Ba stayed up late watching TV, so he is tired now.

=> Because Ba stayed up late watching TV, he is tired now.
35. My friend cannot stay with me longer.

=> [ wish my friend could stay with me longer.

36. He is fond of walking in the rain.

=> He enjoys walking




